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1) The statement is true. One more would give a remainder of three. The remainder cannot be equal to or greater
than the divisor (the number you are dividing by) because you would be able to make another equal group.

2) a) 88-4=22 b) 51+3=17 c) 82:6=13r4 d) 84-7=12
€) 82 = 6 = 1314 is the odd one out because it is the only answer that has a remainder.

3) Francis’s answer is wrong because the remainder cannot be higher than the divisor. With a remainder of 7, it is possible
to make another group of 5.

Usman’s answer is incorrect. Even though he has conrectly calculated that 37 can be shared equally into 7 groups, he
has forgotten to include the remainder of 2 in his answer.

Gina is comect. 87+ S = 1712,

1) Numbers Divisible by 4 @
Has No Remainder Has a Remainder of 1 Has a Remainder of 2 Has a Remainder of 3 7

3,12, 16, 20, 24, 28 5,9,13,17, 21, 25, 29 6,10,14,18, 22, 26,30 7,11,15,19, 23,27

+ All the numbers that have no remainders when divided by 4 are multiples of four.
* All the numbers that result in an odd remainder are odd.
« The number sequences in each set are counting in 4s from different starting points.

Children may identify different answers to the suggestions above.
If what they notice is correct and can be justified, it can be marked correctly.

Charlie’s hypothesis is correct. When we
divide by 3, the numbers in each column’s

Numbers Divisible by 3

Has No Remainder Has a Remainder of 1 | Has a Remainder of 2 | coryence have a difference of 3. lohen we
6,9,12,15,18, 21, 24, 27,30 7,10,13, 16, 19, 22, 25, 28 | , I, 14, 17, 20, 23, 26, 29| divide by S, the numbers in each column’s
sequence have a difference of 5.
Numbers Divisible by 5
Has No Remainder | Has a Remainder of 1 | Has a Remainder of 2 | Has a Remainder of 3 | Has a Remainder of 4

s, 10,15, 20, 25, 30 6,11,16, 21, 26, 7,12,17, 22,23, ,13,13, 23, 28 9, 14,19, 24,29





